Dice Race

1) Have each student shake two dice and mark the sum on the graph. The race is to see which sum reaches the top of the graph (15) first. 

2) Each student then records how many 2's, 3's 4's,etc. were recorded on her graph.

3) The students at each table combines the data for #2 above.  

4) Then the teacher calls on each table and records the data on a large class graph.

While recording, assign tables to check the totals across the rows and down the columns.
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5) Have a large graph prepared to show experimental results, but don't fill in the numbers until you have the totals, so you can see what the largest number will need to be.
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6) After you have filled in the graph, which shows the experimental probability, you are ready to tackle the theoretical probability.

7) Working with a 6 x 6 grid, have the children fill in all the possibilities for shaking 2 dice.
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Figure out the probabilities for each sum, based on the number of times it appears in this grid.  There are 36 different possibilities:

P(2) = 1/36   P (3) = 2/36, etc.

Then, figure out how many times each sum should have appeared on the Class Graph for the Dice Race. For example, if the total number of throws for the whole class was 1253, then a 2 should have appeared 1/36 x 1253, or 34.8 times. (use calculators).

8) Finally, mark the theoretical probability on the large class graph.  
